MOCK TEST FOR GIFTED STUDENTS 
GRADE 10 

Full  Name: ...................................................................... Class ......................
A. MULTIPLE CHOICE. (40 PTS) 

I. PHONOLOGY (5 PTS) 

Choose the word whose underlined part is pronounced differently from the others. 

1. A. cheap 
B. character 
C. chaos 
D. charismatic
2. A. tough 
B. through 
C. rough 
D. enough
3. A. mineral 
B. determine 
C. examiner 
D. mining
4. A. naval 
B. canal 
C. fatal 
D. mammal
5. A. gorgeous 
B. gem 
C. gene 
D. genius
Choose the word which is stressed differently from the other three. 

6. A. solidarity 
B. enthusiast 
C. spectator 
D. precision
7. A. energetic 
B. international 
C. competitive 
D. recreational
8. A. differently 
B. increasingly 
C. excellently 
D. probably
9. A. swallow 
B. digest 
C. survive 
D. impress
10. A. abnormality 
B. opportunity 
C. personality 
D. activity

II. WORD CHOICE (5 PTS)

Choose the best options to complete the following sentences. 

1. We are going to build a fence around the field with …………….to breeding sheep and cattle. 


A. a goal 
B. au outlook 

C. a reason 

D. a view
2. We should make a clear…………….between ‘competent’ and ‘proficient’ for the purposes of our discussion.


A. separation 
B. division 

C. distinction 

D. difference
3. The group’s image…………….to young people in general and the less well-off in particular.


A. appeals 
B. attracts 

C. excites 

D. draws

4. His parents have always wanted Phillip to set a good ………… to his younger brothers both at school and at home. 


A. form 
B. model 
C. pattern 
D. guidance
5. The Moon has no liquid water, …………….no atmosphere, and is lifeless.


A. potentially 
B. virtually 

C. possibly 

D. probably
6. I’m sorry, but the dress you want is not ………… in red. 


A. possible 
B. economical 

C. suitable 

D. available
7. Ask David to give you a hand moving the furniture. He's as strong as……………..


A. an elephant 
B. a mountain 

C. a gorilla 

D. a horse
8. A lot of people who live in the outskirts have to…………….to work every day by train or tube.

  
A tour 
B. commute 
C. travel 
D. Move

9. They were ……………. about who should make the coffee.


A. quarrelling 
B. disputing 
C. objecting 
D. opposing

10. He was arrested for trying to pass …………….notes at the bank. 


A. unreal
B. artificial 
C. fake
D. counterfeit.
III. GRAMMAR AND STRUCTURES (5 PTS) 

1. ……………., the examinees knew it was time to stop. 


A. Hearing the bell 



B. When heard the bell 


C. To hear the bell 



D. To have been heard the bell

2. Get one more copy page ……………. you need it later for reviewing


A. so that 
B while 

C. as 

D. in case
3. The assistant director recommended that Kenichi …………….to the New York office.


A. be transferred 
B. transferring 

C. is transferred 

D. to transfer
4. Neil Armstrong, …………….person to set foot on the moon, reported that the surface was fine and powdery.


A. was the first 
B. to be the first 

C. the first 

D. as the first
5. The Prime Minister, as well as several Cabinet Ministers, …………….in a tough financial policy.


A. is believing 
B. don't believe 

C. believe 

D. believes
6. The salary of a computer programmer is …………….a teacher.


A. as twice much as 



B. as much as twice of



C. twice as higher as that 



D. twice as high as that of
7. ……………. the demand for tickets that people queue day and night. 


A. So was 
B. That was 

C. Such was 

D. This was
8. Nobody was late for the meeting last night, ……………………?


A. wasn’t he 
B. weren’t they 

C. were they 

D. was he
9. …………….appears considerably larger at the horizon than it does overhead is merely an optical illusion.


A. The moon 
B. The moon which 

C. When the moon 

D. That the moon
10. I don't think it would be wise to try to make max change his mind about divorcing Narnia. Well, in his place I ……………. her at all.


A. would never marry 



B. must never have married
C. would never have married 

D. needn't have married
IV. PHRASAL VERBS AND PREPOSITIONS. (5 PTS) 

1. Jeremy needed a long time to………….smoking.


A. get over 
B. get rid of 

C. get on 

D. get down

2. .…………the regular written work, you will be required to submit a long essay.


A. Apart from 
B. Beside 

C. In addition 

D. Beyond

3. …………….all the shareholders, I would like to express our great thanks to you


A. On behalf of 
B. With regard to 

C. In view of 

D. In advance of
4. The problem has been …………….by the increase in global warming.


A brought up 
B. taken up  

C. come about 

D. brought about
5. Although we do not live in the same town, my cousin and I still keep…………….and often speak on the phone.


A. up date 
B. in touch 
C. in hand 
D. off work

6. Everybody should comply …………….this rule. There is no exception, I am afraid.


A to 
B. for 
C. with 
D. in

7. You may be artistic, but I believe you are not cut …………….the job at the theatre. 


A down for 
B. in for 
C. down to 
D. out for

8. I ……………. Katie, an old friend on the way home from the office yesterday.

 
A. came into  
B. broke into 
C. ran into 
D. went into

9. I could hear voices but I couldn’t …………….what they were saying.


A. turn up 
B. bring about 
C. make out 

D. try out 

10. We received a call from the teacher…………….charge of our course.


A. to

B. in

C. at

D. on

V. READING PASSAGE 1 (5 PTS) 

ENVIRONMENTAL ACTIVISTS

Paul Watson is an environmental activist. He is a man who believes that he must do something, not just talk about doing something. Paul believes in protecting endangered animals, and he protects them in controversial ways. Some people think that Watson is a hero and admire him very much. Other people think that he is a criminal.

On July 16th, 1979, Paul Watson and his crew were on his ship, which is called the Sea Shepherd. Watson and the people who work on the Sea Shepherd were hunting on the Atlantic Ocean near Portugal. However, they had a strange prey, instead of hunting for animals, their prey was a ship, the Sierra. The Sea Shepherd found the Sierra, ran into it and sank it. As a result, the Sierra never returned to the sea. The Sea Shepherd, on the other hand, returned to its home in Canada. Paul Watson and his workers thought that they had been successful.

The Sierra had been a whaling ship, which had operated illegally. The captain and the crew of the Sierra did not obey any of the international laws that restrict whaling. Instead, they killed as many whales as they could, quickly cut off the meat, and froze it. Later, they sold the whale meat in countries where it is eaten.

Paul Watson tried to persuade the international whaling commission to stop the Sierra. However, the commission did very little, and Paul became impatient. He decided to stop the Sierra and whaling ships in any way that he could. He offered to pay $25,000 to anyone who sank any illegal whaling ship, and he sank the Sierra. He acted because he believed that the whales must be protected. Still, he acted without the approval of the government; therefore, his actions were controversial.

Paul Watson is not the only environmental activist. Other men and women are also fighting to protect the Earth. Like Watson, they do not always have the approval of their governments, and like Watson, they have become impatient. Yet, because of their concern for the environment, they will act to protect it. 

1: According to the reading, environmental activist is someone who ………………. . 


A. runs into whaling ships 
B. does something to protect the Earth 


C. talks about protecting endangered species 
D. is a hero, like Paul Watson 

2: When something is controversial, ……………….. . 


A. everyone agrees with it 
B. everyone disagrees with it 


C. people have different ideas about it 
D. the people protect it 

3: The members of a ship’s crew are ……………… . 


A. the men and women who work on the ship 
B. the people who work on the airplanes 


C. all of the people on a ship, including the passengers  


D. the people who own the ship 

4: The main idea of paragraph 1 is that ……………… . 


A. Paul Watson is a hero to some people
B. Activists are people who do something 

C. Paul Watson is a controversial environmental activist 

D. Paul Watson does not believe in talking 
5: The Sea Shepherd was hunting …………………. . 

A. the Atlantic Ocean 
B. whales 
C. the Sierra 
D. Portugal 
6: The author implies that Paul Watson lives in …………….. . 

A. Portugal 
B. a ship on the Atlantic 
C. the Sierra 
D. Canada 
7: The captain and the crew of the Sierra were acting illegally because …………….. . 

A. they were not obeying international laws 
B. they were whaling 

C. they were killing and selling whales 
D. All of the above are correct 
8: In paragraph 3, the phrase “and froze it” refers to …………….. . 

A. whale meat 
B. the Sierra 
C. whales 
D. the Sierra crew 
9: The main idea of paragraph 3 is that …………….. . 

A. the Sierra sold whale meat in some countries 



B. the people on the Sierra didn’t obey international laws 

C. the people on the Sierra killed as many whales as they could 

D. whaling is illegal according to international laws 
10: Watson ran into the Sierra because …………….. . 

A. he wanted to stop the ship’s crew from whaling 

B. he was impatient with the government’s actions 

C. he wanted to protect the whales from the illegal hunters 

D. All of the above are correct
VI. READING PASSAGE 2 (5 PTS) 

Read the text below and choose the best answer to each question. 

The Moon has been worshipped by primitive people and has inspired humans to create everything from lunar calendars to love sonnets, but what do we really know about it? The most accepted theory about the origin of the Moon is that it was formed of debris from a massive collision with young Earth about 4. 6 million years ago. A huge body, perhaps the size of Mars, struck the Earth, throwing out an immense amount of debris that coalesced and cooled in orbit around the Earth.

The development of the Earth is inextricably linked to the Moon; The Moon's gravitational influence upon the Earth is the primary cause of ocean tides. In fact, the Moon has more than twice the effects upon the tides than does the Sun. The Moon marks one rotation and completes a revolution around the Earth every 27 days, 7 hours and 43 minutes. This synchronous rotation is caused by an uneven distribution of mass in the Moon (especially, it is heavier on one side than the other) and has allowed the Earth's gravity to keep one side of the Moon permanently facing the Earth. It is an average distance from the Earth of 384,403 km.

The Moon has no atmosphere. Without an atmosphere, the Moon has nothing to protect it from meteorite impacts, and thus the surface of the Moon is covered with impact craters, both large and small. The Moon also has no active tectonic or volcanic activity, so the erosive effects of atmospheric weathering, tectonic shifts and volcanic upheavals that tend to erase and reform the Earth's surface are not at work on the Moon. In fact, even tiny surface features such as the footprints left by an astronaut in the lunar soil are likely to last for millions of years, unless obliterated by a chance meteorite strike. The surface gravity of the Moon is about one- sixth that of the Earth.

The geographical features of the Earth most like those of the Moon are, in fact, places such as the Hawaiian volcanic craters and the huge meteor crater in Arizona. The climate of the Moon is very unlike either Hawaii or Arizona, though. In fact the temperature on the Moon ranges between 123 degrees C to - 233 degrees C.

1. The word "uneven" is closest in meaning to ……………..


A. heavier
B. orderly
C. equally
D. unequally.

2. The word "erase" can be replaced by ……………..


A. change
B. erupt
C. impact
D. obliterate.

3. The word "debris" is closest in meaning to ……………..


A. Moons
B. satellite
C. rubbish
D. Earth.

4. Why does the author mention "impact craters" ?


A. To show the result of the Moon not having active tectonic and volcanic activity.


B. To show the result of the Moon not having atmosphere.  C. To explain why the Moon has no life.


D. To explain the corrosive effects of atmospheric weathering.

5. Which of the followings can be inferred from the passage?


A. People living in Hawaii and Arizona would feel  at home on the moon.


B. If the Moon had no gravitation influence, the Earth wouldn't have tides.


C. The Moon is not able to support human life.
D. Mars could have been formed in a similar way to Moon.

6. According to the passage, the Moon is ……………..


A. the primary cause of the Earth's tides
B. composed of a few active volcanoes.


C. protected by a dense atmosphere
D. older than the Earth.

 7. The word "immense" can be replaced by ……………..


A. dense
B. huge
C. impressive
D. small.

 8. All of the following about the Moon are true EXCEPT……………..


A. it is unable to protect itself from meteor attacks.
B. It has less effects upon the tides than the Sun.


C. It has a wide range of temperature.
D. It is heavier on one side than the other.

 9. What is the passage mainly about?


A. What we know about the Moon and its differences to the Earth.


B. The Moon's effects on the Earth.


C. The origin of the Moon.



D. A comparison of the Moon and the Earth.

10. It can be inferred from the passage that a man weighing 82 kilograms on Earth would ……………..


A. weigh about 490 kilograms on the Moon
B. outweigh on the Moon.


C. weigh approximately 14 kilograms on the Moon 
D. weigh nearly as much as on the Moon.

VII. GUIDED CLOZE 1 (5 PTS): Read the text below and decide which answer best fits each space. 

If the end of the world ever comes, it seems (1) ........... to assume that most of America will be glued to its television (2) ........... and tuned to CNN as the final hour approaches. Largely thanks to CNN and its imitators, the United States is more than ever a nation of news junkies. Over the past decade and a half, the vast audience for the traditional news (3) ........... of CBS. ABC and NBC has slowly dwindled as (4) ........... and listeners tune into "Get it first, get it fast, get it now!" as one all-news radio (5) ........... puts it. In times of crisis or high (6) ........... like the exploding space shuttle Challenger or the Gulf War. America automatically turns to CNN. In bars, airports,  aircraft, hotel lobbies, corner shops and, anywhere else where people might pause and watch, the news pours out in a steady stream. The news is no longer a series of (7) ........... to be explained and analyzed nightly by a set of experts, but increasingly a form of vivid, instant (8) ........... "The news is always changing," CNN's jingle says, "so tune in two, three, four times a day." If you do not, it is implied, you may (9) ........... something, an important (10) ........... in the endless soap opera that is real life.

1 A. well 
B. sure 
C. safe 
D. strong
2 A. controls 
B. sets 
C. monitors 
D. boxes
3 A. broadcasts 
B. shows 
C. Series 
D. performances
4 A. spectators 
B. observers 
C .viewers 
D. witnesses
5 A. channel 
B. station 
C. wave 
D. speaker
6 A. drama 
B. action 
C. theater 
D. plot
7 A. actions 
B. signals 
C. occasions 
D. events
8 A. pastimes 
B leisure 
C. enjoyment 
D. entertainment
9 A. lose 
B. waste 
C. miss 
D. leave
10. A. series 
B. piece 
C. track 
D. episode
VIII. GUIDED CLOZE 2 (5 PTS): Read the text below and decide which answer best fits each space. 

READING WITH THE FINGERS
Blindness is one of the most difficult of human (1) …..... The fact that our eyes are so important (2)……. our learning is one of the key problems. One thing making education (3) …….. and life more pleasant for the blind is the development of a system (4) …… which they are able to learn to read.

Since the blind cannot use their eyes, they are taught to use the (5)…….. of touch in their fingers. Reading raised printed matters of the common type is very, very difficult. A special system now used was invented by a Frenchman, Louis Braille. This reading device is called Braille, (6) ……….. Louis Braille, who made it usable for the blind. In the Braille plan, the letters are (7) ……….by raised dots. The Braille alphabet uses from one to five dots. These dots are arranged upon a six-dot plan. Different patterns are used for (8) ……….. letters. 
Many thousands of books are now printed in Braille and sent to most countries in the world. A blind person who has (9) ……….. this system passes the ends of his fingers along the line of Braille print. At first his reading may be painfully slow, but it becomes faster with (10) ……. .
1. A. drawbacks 
B. sufferings 
C. handicaps 
D. shortcomings

2. A. for 
B. on 
C. with 
D. to

3. A. possible 
B. probable 
C. enabled 
D. easy

4. A. with 
B. for 
C. by 
D. upon

5. A. feeling 
B. sensitivity 
C. sensation 
D. sense

6. A. for 
B. by 
C. after 
D. on

7. A. symbolized 
B. represented 
C. taken over 
D. made

8. A. every 
B. all 
C. another 
D. each

9. A. acquired 
B. studied 
C. learned 
D. mastered

10. A. practice 
B. training 
C. direction 
D. Use
B. WRITTEN TEST (70 PTS) 

I. CLOZE TEST: Read the text below and think of the word which best fits each space. Use only ONE WOORD for each space. 

OPEN CLOZE 1. (10 PTS) 

WILL TECHNOLOGY REPLACE SCHOOLS ?

Some people believe that soon schools will no longer be necessary. These people say that because (1) ……………….. the Internet and other new technology, there is no longer any need for school buildings, formal classes or (2) ……………….. . Perhaps this will be true one day, but it is hard for me to imagine a world without (3) ……………….. . In fact, we need to look at how we can use new technology to make schools better not to eliminate them.
We should invent a new kind of school that is linked (4) ………………..libraries, museums, science centers, laboratories, and even companies. Experts could give (5) ……………….. on video or over the Internet. TV networks and local stations could develop programming about things students are actually (6) ……………….. in school.
Is this just a dream ? No. Already there several towns (7) ……………….. this is beginning to happen. Blacksburg, Virginia, is one of them. Here the entire city is linked to the Internet, and learning can take (8) ……………….. at home, at school and in the office. Businesses provide programmes for the schools and the community. The schools provide computer labs (9) ……………….. people without their own computers at home. Because everyone (10) ……………….. use the Internet, older people participate as much as younger ones, and everyone can visit distant libraries and museums as easily as nearby ones.

OPEN CLOZE 2. (10 PTS) 

The London Marathon

The London Marathon race is a long-running story. It was first held in 1981, (1) ……..…….. when more than half a million marathon runners of various shapes, sizes and abilities have completed the challenge of running the full 42 km of the course.

The London Marathon was the brainchild of Chris Brasher. The former Olympic champion brought the idea home to London (2) ……..……..completing the New York Marathon in 1979. 'Could London stage (3) ……..……..an event?' wondered Brasher, answering his (4) ……..……..question by organizing the first London Marathon on March 29 1981, (5) ……..…….. 6,255 runners completed the course.

The event has captured the public imagination and there are always (6) ……..……..many people wanting to take part. Last year (7) ……..……..amazing 98,500 people applied to run in it, although only 46,500 could be accepted.

For most of (8) ……..……..thousands who do take part, the day is about fun, achievement and raising money for charity - with varying degrees of pain! It is the immense community spirit that (9) ……..……..the race so special. Clubs, community groups and schools assist and entertain along the route as the runners - many of them in fancy dress - run through the streets raising money for charitable causes. The streets of London are turned (10) ……..……..the longest street party in the world as crowds line the course to cheer the runners and enjoy the spectacle.

II. WORD FORMATION (20 PTS) 

PART 1: Complete each sentence, using the correct form of the word in parentheses. 

1. This matter is very............................ Don’t discuss it outside the office. (CONFIDENCE)
2. Water is……………………. to all plants and animals. (DISPENSE)
3. The thief replaced the diamond with a ………………………...stone. (WORTH)
4. “ Would you like some ………………………...?” – Lan asked. You must be tired after that long walk. (REFRESH)
5. The talks were totally ………………………... We didn’t reach agreement on anything. (PRODUCE)

6. The ………………………...of an epidemic will be unavoidable unless measures are taken to prevent the rural population from drinking the contaminated water. (BREAK)

7. I have never met such a strong man. His energy seems ……………………….... (EXHAUST)
8. The advantage of living in the country is that the air is ………………………... (POLLUTE)

9. I stood there in ………………………... when I heard I had been selected to go on the quiz show. (BELIEVE)

10. We always have a bed ready in the spare room in case visitors arrive ………………………... (EXPECT)
PART 2: Complete the passage with appropriate forms of the words given in the box. 

	TV ADVERTISEMENTS

In most parts of the world, the (1) ………………………..basis of the television industry is the sale of advertising time. This is so important and (2) ………………………..that it funds all the technical and staff costs involved in the (3) ………………………. of programmes for a variety of audiences. This is no 

(4) ……………………….. from that employed by newspapers and magazine when they sell advertising space on their pages, except that ( 5) ………………………..have little choice but to watch the advertisements, with the added annoyance of 

(6) ……………………….. during their favourite programmes. One (7) ……………………….. is the BBC which is state funded and so does not show (8) ………………………... This avoids the situation where children watching TV are (9) ……………………
influenced by persuasive advertising for junk food items which their parents may consider (10) ………………………...


	1. ECONOMY

2. PROFIT
3. PRODUCE


4. DIFFER


5. VIEW


6. INTERRUPT
7. EXCEPT
8. COMMERCE
9. EASY


10. HEALTH


III. ERROR CORRECTION (10 PTS) 

The following passage contains 10 errors. Identify and correct them. 

Telecommunicating is a mean of computer communication between employees’ homes and offices. For employees whose jobs involve sitting in a terminal or word processor entering data or typing reports, the location of the computer is of none consequence. If the machine can communicate over telephone lines, when the work is completed, employees can dial the office computer from a distance site and transmit the material to their employers. A recent survey in USA Today estimate that there are approximately 8.7 millions telecommuters. But although the numbers are rising annually, the trend does not appear to be as significant as predicted when BusinessWeek published "The Portable Executive" as their cover story a few years ago. Why hasn't telecommuting become more popular?
Clearly, change simply takes time. But in addition, there has been active resistant on the part of many managers. These executives claim that supervise the telecommuters in a large work force scattered across the country would be too difficult, or, at least, systems for managing it are not yet developed, thereby complicating the manager's responsibilities.
1.
……………………….……………
6. ……………………………………….

2.
……………………….……………
7. ……………………………………….


3.
……………………….……………
8. ……………………………………….


4.
……………………….……………
9. ……………………………………….


5.
……………………….……………
10. ……………………………………….


 IV. SENTENCE TRANSFORMATION. (20PTS) 

Rewrite the following sentences using the words given. 

1. His efforts to find a solution didn’t deserve such savage criticism.


He shouldn’t ……………………………………………………………………………….……
2. It’s a pity that you didn’t participate in that game.

We would rather……………………………………………………...……………….…………
3. If his solicitor hadn’t advised him, he would have made a serious mistake.

Had it ……………………………………………………………………………………………
4. I never thought that I would win a prize in the writing competition.

It never ………………………………………………………………………………………….
5. Could you help me to post these letters? 


Would you be so ………………………………………………………………………….……?
6. Nobody expected her to lose the game, but she did (AGAINST)

……………………………………………………………………………………………..……

7. The witness thought I was the thief, but she realized that she was wrong. (FOR)

…………………………………………………………………………………………………..

8. I don’t like him because he boasts a lot. (MOUTH).

…………………………………………………………………………………………………..

9. They arrived their destination alive and kicking. (SOUND)

…………………………………………………………………………………………………..

10. Many companies were immediately affected by the new regulations (EFFECT)
…………………………………………………………………………………………………..
